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Choose the correct sentence-

(8} One should obey their parents

(€) One should obey one parent

Choose the correct sentence?

(R) We have many works to do in summer.

(€) We have a lot of work to do in summer.

Choose the correct form of sentence.
(a) 1 wait your decision

(€} 1 awau for your decision

Which onc is the correct sentence?

{a) He 1s comparatively better today.

(¢) He s better today.

The correct sentence is-

(a) 1 saw him and told everything

(c) 1 shall avail myself of the morning bus

Which one of the following is the correct sentence?

(@) Shaon' is the actress and singer
(<) 'Shaon’' 1s both an actress and singer

Which of the following is the correct English?

(h) One should obey one's parent
(d) One should obey the parent

(b) We have much works to do in summer Ar . d

(d) We have a lot of works to do in summer

(b) I wait to your decision
(d) 1 await your decision

. Ansr d
Medical-2013-14

(b) He is good today than before.
(d) He is best today than yesterday.  Ans:c
Medical-2012-13

(b) You should no pride of you; health 4
d) He took part in the feast and enjoye ns:a
fen ’ Medical-2091-12
(b) 'Shaon' is both the actress and singer

(d) 'Shaon' is an actress and singer Ans:a

1

(a) The chglrman was gracious enough to give us a dinner
(b) These fruits are eatable but those are poisonous

(a) A drowning man catches up a straw.

(b) India 1s trying to catch up with the advanced countries.

(¢) He s casting off for an opp  .unity.
(d) He cast about his shoes.

Choose the correct sentence.

(a) The nich i1s not always happy.

(¢) The nch 1s not always happy.

Which one of the following sentences is incorrect?

(a) | hope he will succeed in his work.
(c) The man was cured of lias illness.
16 e sentence?

() Kanm preferred reading 1o writing,
(¢) Karnim preferred reading that to write
Choose the sentence which is correct:

(a) That so many advances have been made in such short tine is the most valid argumen

retapnng the rescarch unit

(c) She was hz_ldly mjured by my unkind words.
(t:l).Mathcmal:cs requires reasonable thinking
Which of the following sentence is correct?

_Ans:d
Medicail-2009-10

Ans:b

Medical-1995-96, 11" BCS
(b) Rich is not always happy.

(d) The rich are not always happy:. Ans:d

Medical-2005-06

(b) She was married with a rich man.

(d) The patient has died of cholera. Ans:b
D.U.Unit-C 2003-04 Medical-2003-04

(b) Karim preferred to read than to write.

(d) Karim preferred o read than writing,.

Med

1

t for

(b) That so many advances have beenmade in short time is the most valid argument for retaining the

research umt.

(¢) the so many advances have been made in so short time is the most valid argument for

retaining the research unit.

(d) That so many advances have been made in so short a time 1s the most valid argument of

retaming the rescarch umt
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13 sentence Madiont - 200304
(a) Ighal was the poet and philosopher. (b) Igbal was a poet and philosopher
. (¢) 1gbal was both the poet and philosopher,  (d) Tqbal was a poet and o philos ; ‘ A
1y~ el =#Fs sentence? ¢ ,”:,m;.;.m;m
</ (m) He asked me to hold my tongue, (b) He said me 1o hold nry tongue
- () He told me to held my tongue. () He snid to held my ton e ' Ay
5 Which is not correct? ‘mal-zo& 02
(n) Amm!.mg 10 the newspaper, he accepted bribes while a high official of the government,
) Aaxrdpgm the newspaper, he accepted bribes when he was a high official of the govermment.
©) Aocmd?ug to the newspapers he accepted bribes when a high official of the government.
(d) Acconding to the newspaper he acoepted bribes while he was a high official of the govermment. An
16. Which sentence is correct if we want to relate the cameras and the pictures they produu?'
(a) Despite small size, these cameras take very good pictures Madical-2001-02
(b) In spite of their small size, these cameras take very good pictures. v »

<) In spite of its small size, these cameras take very good pictures,
- (d) These cameras are small but the pictures are of good quality. Ans:b
/rf. Which is the correct sentence? . Medical-1999-00
7 (a) There is no misunderstanding in it. (b) There is no suspension in it. v
_¢c) There is no room for doubt in it. (d) There is no place for doubt in it.

" Which sentence (s) is/are correct? ﬁintﬂ-m
: (a) Look in the second volume of the Modern Medical Dictionary. ' -
(b) Look in volume second of the modern Medical Dictionary.
(c) 1.ook in the volume second of the Modemn Medical Dictionary.
) Look in volume two of the Modern Medical Dictionary. Ans:ad
19/ Find out the correct sentence. Medical-1998-99

(a) Walking towards the left I found the shop.
(b) While 1 walked towards the left, I found the shop.
() I found the shop walking towards the left.

) When I turned left, 1 found the shop. Ans:d
20. /" Find out the correct sentences?

(a) He maintains his family with great difficulty.
(b) Either karim or his brother has done this work.
(¢) He maintains his family with great hardship.
\L/é') Either karim or his brother have done. Ans:b & ¢

" Find out the correct sentence? Mﬁfw"wm
(a) | informed the police of the matter. (b) 1 knew the police of the matter.

(¢) I informed the matter of the police. (d) I informed of the matter to the police. Ans:
22/ Which one is the correct sentence? Medical-1 —%
' (a) ] shall Jook upon the matter. (b) I shall look into the matter.
(¢) I shall look after the matter. (d) [ shall look for the matter. e Ans:b
A Find out the correct sentence — ﬂi’ﬁﬁ'—‘iﬂ’;ﬂ
(a) On holidays he 1s reading detective stories. (b) On holidays he reads detective stores, Arz5:D
) (€) On holidays he has read detective stories. (d) On holidays he has been reading delective <*Zows.
‘\Zﬂ/ Find out the correct sentences. pental-1997-9%
(a) Either of the three books will do. (b) Any of the three books will o
(¢) Both of them did not go. (d) Neither of them weut. Ans:b
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: Dental-1997.48
O Vind ont the correct sentence?
(2 Five deers and ten sheeps are grazing in the field.
(M) Five deer and ten sheeps are grazing in the field.
(<) Five deers and ten sheep are grazing in the field. 1"!.“
A Fave deer and ten sheep are grazing in the field. — wﬁ-'m“w|“.4“m
. 2 Find out the correct sentence. Medical .

(b) Rahman is tall as mine

{(a) Rahiman is as 1all as mine
(d) Rahman is as tall as me

() Rahman is as tall as |
Find out the correct sentence.
(@) The building is lying half

(b) The building is lying half one
- () The building is lying half done

; ilding is lying completed Ans;e
e it #2008/ Medical-1994-08

bontal-f'{i%

Ans:b

\JZ}K Find out the correct sentence. LGULR LR L
(a1) She denied that she had been written the letter.
(1) She denicd that she had written the letter.
> ,ﬁ) She denied that she wrote the letter.
o /~ (d) She denied that she has written

Find out the correct sentence.

Medical-1994-95

el (a) Not less than fifty men were present.
_~ (<) No fewer than fifty men were present.
;‘)ﬂ. Find out the correct sentence-
(2) This is the only one of his poems which are worth reading.
(b) Thas is the only of his poems that is worth reading
(<) this is the only one of his poems that are worth reading

(d) This is the only one of his poems that is worth reading
- Choose the correct sentences.

(a) The miscreants fired upon the crowd
(¢) The police fired at the mob

327 Find out the incorrect sentences?
(a) He 1s a zealous social worker

(b) No less than fifty men was present.

(d) No fewer than fifty Ans:c

Medical-79s
(b) Fired with zeal, he started his work
(d) He fired on the bird

(b) He is jealous for my wealth.

~1¢) He 1s jealous of my wealth. (d) He is zealous of my position __Ans:b&d
337 Find out the correct sentences. Medical-1993-94
(a) The picture was different from what | expected.
(b) The picture were different from what I expected.
(¢) the picture was different to what I had expected.
The picture was different to what I expected. R Auva
& :?/:?nd out the correct sentences. Medical-1993-94
(a) Karim resigned from his post. (b) Karim resigned his post.
(¢) Get the picture hanged in your room. (d) Get the picture hung in you room. M
e Which of the sentences are correct? Medical-1992-93

(a) He killed two birds in one stone. (b) He killed two birds with one stone.

*) I know where he lives. (d) I know where does he lives. ) Ans:b&c;
/d/t:f hich sentences are correct? Mo'dlca_l-ma-ﬁg
\ (a) He prevented from going, (b) e prevented out going.

-~ (e) He prevented us going.
< 37. ~ Which sentences are correct?
(a) He said that he will help me.
(¢) He asked me if 1 knew his son.

(d) e prevented us of our L;uin&ql #g_—?’
Medical-1992-9:

(b) He said that he would help me.
Ans:b&c

(d) He asked me if | know his son.
APEX
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a8 / wWhich © “l h' nug sentences are correct? Win the World
_ a) The driver has been accused for theft, ).
:ﬂ;’l 1“: l.(\“(h.; nf l)h“k“ are l‘ollct' ‘l“l“ '{aiﬁhu]“ :l;) ] l]t‘ (]l'i\’rl‘ I“\H hC('” “r(‘“"(“' lwoﬂ“ﬂll-" 992"’
; : i . . d) The . Aol thelr, !
AVhich statements are correct? ) The rouds of Dhaka are better thun Ih:munl'llfi!l%:‘:lb:&d
» i e snes s s il . ) shahy
/(@) relevision is a wonderful discovery of o adle Medlcal-1992.93
N () Television is u_wgnderl'ul mvention of modern s(, .n“'
(¢) The weather of this place does not suit me S
Y, (@) The climate of this place does not suit rnc.‘

J;O.

~7

Q2

-

43

which of the sentences are correct?
(a) He resembles to his father.
¢) Guard from that danger.
Which are correct sentences?
k(:)(‘l’hcre is no place in the bench.
The statement is true.
/ Vhich are correct sentences?

(a) | could not arrive in time.
e was clected as chairman.

N

/\v(v'hich are correct sentences?
a) Swimming is a good exercisc.

¢) He does not know how to swim.
Which are correct sentences?

(a) He is junior than me.

(¢) I was bom in 1966.

45. ~Which are correct sentences?

46

(a) 1 sold my furnitures.

(¢) Hasina is sick in body.

Which ane is correct?

(a) Mr. Karim s blind for hus son’s fault.
Mr. Karim is blind to his son’s fault.

tollowing sentences are correct?

(c
47. 'hich of the
(a) The boy was a foolish.
) Who do you think is this?

%

48.

49

50.

Which onc®s correct?
(n) Vegetables defend us from diseases.
¢) I challenged him for a ducl.

Which of the following sentences are correct?

(a) The economical condition of our country 1S
(b) Everybody should be economic in habit.

Ans:h&d

Medical-1992.93
(b) He resembles his father. l A2
(d) Guard against that danger. 1n3:h&d
Medical-1992-93

(b) There is no room in the beneh,

(d) The fact is true. Ans:h&ec

] Maodical-1992-93-
(b) I could not arrive there timely,

(d) He was elected chairman.
Madical-1

(b) He does not know swimming,

(d) He has swam yesterday. Ans:ase
Médical-1991-92

. Ans:-l;&c‘
Modical-1991-92

91-92

(b) He is junior to me.
(d) I was borne in 1966.

(b) I sold my furniture.
(d) Hasina is sickly in body.

Ans:b
Modical-1991-92
(b) Mr. Karim is blind about his son’s fault. *
(d) Mr. Karim is blind of his son’s fault. Ans:

(b) The boy was a fool. .
(d) Who you think is this? - Ans:b&ec
Médical-1991-92
(b) 1 like his childish simplicity.
(d) He has a test for music. Ans:a
Medical-1991-92.

bad.

(¢) The economic condition of our country is bad.

(d) Everybody should economic in habit.
Which statement is correct?
(a) We always get sunlight.

(b) When our part of the carth faces the sun it is day.
(c) When out part of the earth is turned away from the sun it

(d) None of the above.

233

Ans:c
Medical-1991-92
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Ans:b
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Choose the correct sentence:

. . snding on you
{a) All of 1t depend on you (b) All of it are e 1

3 tepended on you Ans ¢
(<) Al of 1t depends on you (4) All of it &re 2 w m
Which one is a correct sentence? : from wood
(a) Paper s made of wood (b) pnpc‘r ‘: ::::gf; on wood Ans: b
(€) Paper s made by wood (d) ]:;mr " 31 BCS
Which one of the following sentences is incorrec 1 one another suddenly
(a) The land is belonged to an old lady (h) e Pngocggl'r?::w an ice-cream oAns:a
(€) The leader expressed himself forcibly (d) “‘f’o‘hcr #1BCs
Which one of the following sentences s incorrect?
(a) He was always agruig with his brother
(b) His failure resulted for lack of attention
(€) When will you write to him about your Pla‘l)l? Ans:b
(d) Who was the boy you were all laughing at” rong. That
One of the four sentences given in each question in grammatically wrong 30™ BCs
alternative is your Answer. . . jshahi B
(a) He has no desire for fame ()1 infoind go'm%l(;:}%‘z?n d‘inner Ans:b
() He is too miserly to part with his money  (d) He has mvite 8" BCS
Which sentence is correct? SIS = .
(a) This is an unique case ( 15 18 & . :
(<) This is a very unique case (d) This is the most unique case W‘A;:’E.;
Select the correct sentence : 1 bag who was tall + Ans:c
(a) The man was tall who stole my bag. (b) The man stole nl}y % gis ctealing my ba 205
(c) The man who stole my bag was tall (d) The man was tall who s 5 g',""“

Choose the correct sentence
(a) I have looked for a good doctor before I met you
(b) I had looked for a good doctor before I met you.

(¢) I looked for a good doctor before 1 had met you in to. % P
(d) T am looking for a good doctor meeting you. -1._—»!.,—'“‘*
Choose the correct sentence. >~ BCS

(a) The train is running in time (b) The train is running on hime
(c) The train a running with time. (d) The train is running to time.
Which of the following sentences is the correct one ?

(a) My father was in hospital during six weeks in summer.

(b) In summer during six weeks my father was in hospital. ‘d
(¢} My father was in a hospital for six weeks during the summer.

(d) My father was in hospital for six weeks during the summer. ) Ans:d
“I will have a cup of tea,” my father said, “because I am not hungry.” Which followl:g‘ o
sentences to the correct indirect speech? 247 BCS

(a) My father said that he will have a cup of tea because he want hungry.

(b) My father said that he would have had and cup of tea because he wants hungry.
(c) My father said that he would have a cup of tea because he wasn’t hungry.

(d) My father said that he had a cup of tea because he wasn’t hungry.

 Ans:c
Choose the correct sentence-
(a) Rahim ate almost the whole fish. (b) Rahim almost ate the whole fish.
(¢) Almost Rahim ate the whole fish (d) Rahim ate the whole fish almost. Ans:a
Choose the correct tense- 23"
(a) Javed was so exhausted that he lain down for a sleep.
(b) Javed was so exhausted that he had lain down for a sleep
(¢) Javed was so exhausted that he was lying down for a sleep
(d) Javed was so exhausted that he will lain down for a sleep. Ans:c
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i deniity the ?m*_rect sentence -
(n) She had “m,h i and hnpeslthr the future
() She had tarith and hopes in the future
The sentences with correct punctuations «
) Maria, my sludem? is on leave today.,
(¢) Maria my student is on leave today,
The correct sentence of the following -
(a) The Nile 18 lm\g‘\‘sl river in Aftica,
¢) Nile is longest river in Atrica.
which of the following sentences is correct?
(a) One ofmy friends are a lawyer
(¢) One ot my friend is a lawyer
which of the following sentences is correct?

(a) That shirt which he bouglt is blue in colour,

wilh I T e s e P iy

Win the Waord

‘ WHCS(wAtten), 23R s
W and hopes for the future
ith and hopes in future

(1) She had i
() She had
Area

17" BCS

i’!"i‘.'fl

17""8es

I rin the Africa
ongest river in Africa. ?nt:cl
16™ BCS

an s:b
16"

'BCS

(b) Maria my stud i
En'. 18 ¢ =
: . m leave today.

y student is, on leave today

(b) The Nile is lon i
. s longest rive
(d) The Nile is the

(b) One ol‘: my friends is a lawyer
(d) One of my friends are lawyers.

(b) The shirt that which he bought is blue in colour.

() which shirt he bought is blue in colour.

(@) The shirt which he bought is blue in colour

which of the following sentences is correct?
(@)l forbade lhim from going
(¢) 1 forbade him going

which of the following is a correct sentence?

(a) He was too clever not to miss the point.
(¢) He was too clever to miiss the point.

Ans:d
16" BC
(b) I forbade him to go s'

(d) 1 forbade him not to go Ans:b

15" BCS

(b) He was so clever to miss the point.

(d) He was too clever to m 1 :
Choose the correct sentence PR mA"S-C

(a) The matter was infonmed to the police (b) The matter has been informed of the po-lizé;
(¢) The police was informed of the matter

(d) The police were informed of the matter ~ Ans:c
Choose the correct sentence.

; 11" BCS
(a) He was hunged for murder (b) He has been hunged for murder.
(c) He was hanged for murder. (d) He had been hunged for murder. Ans:c
Find the correct sentence.
(a) The man who knocked at the door was a stranger.
(b) The man who 1s knocking at the door was a stranger.
(¢) The man knocked at door is stranger. h
(d) The man knocking door is a stranger.
(¢) The man who knocks at the door is stranger. Ans: b

Find the correct sentence.

(a) More you read, less you understand.

{b) The more you read, less you understand.

(c) The more you read, the less you understand.

(d) More you read, the less you understand.

(e) More reading, less understanding.

Find the correct sentence.

(a) The announcer awarded the prize to Jamil and mysclf.
(b) The announcer awarded the prize to Jamil and me.

(¢) The announcer awarded the prize to Jamul and L.

(d) The announcer awarded the prize to | and Janil. Ans
Find the carrect sentence.

(a) from Sharmila is on hunger strike since the year 2000.

(b) from Sharmila is being on hunger strike since the year 2000.

(EMBA, D.U-2017

Ans: c
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{0y Tronn Sharmila was on hunger strike since the year 2000, .
() (rom Sharmmnla has been on hunger strike since the year 2000, M
/ Find the correct sentence.
() Whose glasses are these? Are these yours or Sohel's?
1's?

(b) Whose glasses are these? Are these your's or Sohe

(€) Who's glasses are these? Are these yours or Sohel’s?.

() Who's plasse's are these? Are these your’s or Sohel's? M
/ Find the correct sentence.

(a) The intruder stood quietly for few moments.

() The intruder stood gquietly for few time.

(¢) The intruder stood gquietly for sometimes,

(d) The imtruder stood quietly for moments,

(e) Tihe intruder stood quietly for a few moments.

}f Find the correct sentence. . .
(#) She had faith and hopes for the future. (b) She had faith and hopes in 1hc future.
(d) She had faith in and hopes for the future
n -

() She had faith and hopes in future
(¢) She had faith for and hopes in future.

}/ Find the correct sentence.
{a) She was interested both in plant and animals.
(b) She was interested in both plants and animals.
(¢) She was interested both in plants but also in animals
(d) She was interesting in both plants and animals
(¢) She was interested in plants, animals, both. Ans: b
Which of the following sentences is correct. ﬂm

(n) 1o you know who the house belong to?
(b) Do you know whom docs the house  belong to?

(¢) Do you know to whom the house belongs to?
(d) Do you know who the house belongs to? Ans: ¢

Which of the following sentences is correct.
(b) It was a mistake of judgment.

(s) It was an crror of judgment.
(¢) It was a wrong of judgement (d) It was a gaffe of judgment. Ans: a
(D Unit; DU (2013-15)
(n) The two parties have different views to democracy.
() The 1two parties has different views ol democracy.
Ans:

(¢) The two parties differmg on democracy.
(d) The two parties have different views of democracy.
Which of the following sentences is correct? " (D=Unit, DO (2014-15)
(#) The country has adopted a new industrial policy. '

(b) The country has effected the new industrial policy.

(¢) The country has affected new industrial policy.
(d) The country has adapted an new industrial policy. _ ~
€  Which of the following sentences Is correct? (D-Uhﬁ:lm“am

(#) Over a bilhon people using Microsolt Windows operating systems., ’
(1) Over a billion people uses Microsoll Windows operating systems,
(¢) Over a billion people use Microsofl Windows operaling systems.
(d) Over a billion peoples use Microsofl Windows operating systems. Ans:¢

/(h Which of the following sentences Is correct? m&u&mmiﬂm-l—lﬁ
(#) To whom do the book belong?

(b) By whom does the book belong?

% Which of the following sentences is correct?
e
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s does the book belong? S b s B
doos the book belong to? Win fhe Wavin
f the following sentences Is correct?

ore have you bom? - :
(b) Where are yous "'!m”m U nit, ﬂ;um

Jere were you Lom?

<) .
\jnd the correct sentence. () Where had you borm?
}' (a) Ratan failed to carry out his studies for poverty (C-Unit M

has failed to carry away hi

(b) Ratan A% rway his studies for pover
) Ratan ﬁn!et} to carry on his studies for pu\r:r'[;’oveﬂy.
() Ratan hgs failed to carry about his studies for pove
(¢) Ratan failed to carry off his studies for I’OVen;,h verty,

which of the following sentences is correct?
(a) Silver as well as cotton have fallen is price
®) Bangla as well as English are taught here. ‘
(¢) The mayor. with his councilors, is to be present
(d) The king, with his ministers, are going on a trip;

y Find the mst :;I;ctefnce. -
> cas or you. . ’ Ans..
}:; g; z:;le his vote for Yzﬂu (:;) He cast his vote for Sfm.l 'ait, D.U (8-19)
(e) He cusped his vote for you. (d) He cost his vote for you %
"_/ wm‘c"? on:_cdisml'he corlt'eﬂct sentence? dms2
P ) Wiy did ey e vestenday? (b) Wh Medical-2013-14
rdid d th y had th - .

O o ab ey o here vestrdayt - (G Wy B WIS SIS
oo 0 Amee

(D-Unit, D. U. 2

which of the following sentences is correct? {DiUnit ., ANES
(a) He chose well and prospered. (b) He choose well and proépel:e(’i O- U, 20134
(c) He choiced well and prospered. (i) Hn choscri’welland ¢ ed' |
Which of the following sentences is correct? p'if’sp.‘":m-&: 5 42% J
(@)l ?nSPSl that she come along, (b) I insist that she comes aloﬁg_ o -
(c) 1 insist that she came along. (d) I insist that she may come alon Ans:a
Choose the correct sentences. (G-Unit, é;, o -——-—'5
(a) He will thought that she is leaving for Sylhet. (b) He thought that she is left for Sylhet.
(d) He thinks that she leaving for Sylhet. (d) He thinks that she has left for Sylhet.

(e) He is thinking that she leaves for Sylhet. Ane:d
Choose the correct sentences. (C-Unit, D. U207 {

P
/94.
7( (a) Mary has been on a diet for three weeks.  (b) Mary has been on a diet since three weeks.
(c) Mary had been on a diet since three weeks. (d) Mary was on a diet since weeks.
(e) Mary 1s on a diet since three weeks.
7/ Which of the following is incorrect? National University (2€
(a) we haven’t got enough milk. (b) 1 didn’t study enough hard.
(d) She did not have enou oh interest. ‘
. ejaalR SEOFICa AT A
(b) Let Ruma and mine go.
(d) Let Ruma and m self
y‘ vl s Rl

(¢) s your coffee hot enough?
Choose the correct one:

(a) Let Ruma and | go.

(¢) Let Ruma and me go.

Choose the correct one:
(a) He is not only intelligent but also he is creative.

(b) He is not intelligent but also creative.
(¢) Not only he s intelligent but also creative,
(d) He is not only intelligent but creative also. Ans: b




